Aire et Périmetre de Polygones (C)

Trouvez I’aire et le périmetre de chaque polygone.

h=63m
67m/ 63 m h=3.7mi
3.7mi | 7.2 mi
N ]
29m 6.7 mi
59 ft 8.5 yd
6.9 ft 1. 85yd ... ] 8.2 yd
5.1ft

5.7yd
7.7 ft
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Aire et Périmetre de Polygones (C) Solutions

Trouvez I’aire et le périmetre de chaque polygone.

h=63m
6.7 m 6.3 m
]
29m 6.7 mi
A =9.135 m? A = 12.395 mi2
P=159m P=17.6 mi
5.9 ft 8.5 yd
6.9 ft 1 85yd | 8.2 yd
— 2
A =40.71 ft A =69.70 yd
P=256f P=334yd

S5.11t
5.7yd
7.7 ft
2 .2
A=29.61yd A=3927ft"
P=222yd P=2506ft
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